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1
goooooooono 1 gobobobobooobuooobooubboobbooobboon
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(2) Wy = T2 ERS T, —Tot+x3=1
Zs3
I

(3) W3 = To € R? 1+ a2 =0,29 — 323 =0
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I

(4) Wy = To € R? 1+ 220 =0
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I

(5) Ws = To €R? 1+ Tog = X321
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0000 A BOOODOOOOOOOOOO 1)ACBOO?2BCADDDDOODDO ACB
00000 ADDOOO 0 BOODOOOODOOOOODO
X
(z,y,2z) CRRODODODWORDD0000O0O0O0w= | y |O000DODOO0OOO0OOO
z

zZ—T 3r — 2z

a= 5 ,b=x+y—2z,c¢c=

O0000w=ax+by+czeW OOOOO OKO

)poOO0oO0O000000000000000000000000 1000000 ooooMmMoooooOooooo
=0oooooooooobooOoOoboOOOOODOOOODOOOOOOOOOOOOOOOOOOO0OOO0O0O0O0000000
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o, 00000 0O0D0OO0O0O00=0xy+ -

yOoooOOO(x,y)DOOOOODOODOODOOODOODOOOO

+x, eWOOOOW#£AQOOODO

WODODOOD 2000000 2 ¢ 0000000000 a,...,an, &,...,a/, 00000
r=a1x1+...tapxy, ' =djx1+...+ax, 000000000
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O000z+2'ewDOOO
wioooooooO z=a1x1+...+ta,zx, 000000 « OO0
ax = (aar)xy + -+ + (aap) T,
000 axewooool
0
goo0ogdo 1.8 000000000 0o00oo0oog? 000 oy = 0|, &1 = 2
3
0 2 1 1
Lo = 1 , L3 = , Ly = 3 , Ly = 1 1 oood
0 4 1 2
(1) {0} (2) (zo) (3) (x1
(4) (z1,22) (5) (@2, 3) (6) <fB1a~’B4>
(7) (z1, @2, @3) (8) (@2, ®3, @5 ) (9) (x2, T3, %6 )
(10) (1, ®2, X3, %4 ) (11) R?
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